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QUESTION 1

You are working on a Business Continuity plan for one of your customers. The customer states, 

"This business process is very important for us so we cannot afford any data loss. However we can tolerate three hours
to recover." Which two statements correctly refilect the business process requirements? (Choose two.) 

A. The business recovery time objective is zero. 

B. The business recovery time objective is three hours. 

C. The business process recovery point objective is zero. 

D. The business process recovery point objective is three hours. 

Correct Answer: BC 

 

QUESTION 2

An Hitachi Data Systems customer plans to Use HiCommand Device Manager (HDvM) to manage ShadowImage pairs
on an Adaptable Modular Storage (AMS) system, using central management. Which two are required before
ShadowImage can be managed from HiCommand Device Manager? (Choose two.) 

A. A DM-LU must be setup on the AMS. 

B. Datashare mode on the AMS must be enabled. 

C. A ShadowImage group number must be defined. 

D. The HDvM host agent and CCI must be installed on all hosts. 

Correct Answer: AB 

 

QUESTION 3

A customer wishes to create copies of a database using ShadowImage on an Adaptable Modular Storage (AMS)
system. Which three products would be used to accomplish this? (Choose three.) 

A. Storage Navigator Modular 

B. Command Control Interface (CCI) 

C. HiCommand Device Manager (HDvM) 

D. HiCommand Replication Monitor (HRpM) 

E. HiCommand Storage Services Manager (HSSM) 

Correct Answer: ABC 
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QUESTION 4

After executing a paircreate command you find that the secondary volume is mounted to a system. Which action
sequence should be used to correct this situation? 

A. Unmount the secondary volume. 

B. Unmount the secondary volume then execute the paircreate command again. 

C. Execute pairsplit -S, unmount the secondary volume, then execute the paircreate command again. 

D. Unmount the secondary volume, execute pairsplit -S, then execute the paircreate command again. 

Correct Answer: C 

 

QUESTION 5

A customer is planning to use Universal Replicator for Disaster Recovery of a normal transactional database (e.g.
Oracle, DB2). Which two must be included in the same Journal Group? (Choose two.) 

A. data files 

B. transaction logs 

C. database dumps 

D. application binaries 

Correct Answer: AB 
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